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2000

130 150
( mmHg) 130 139 ( mg/dl) 150 299
140 159 300
160 AST GOT) 41
85 ( Iu/s) 41 50
( mmHg) 85 89 51
90 99 ALT(GPT) 36
100 ( /) 36 45
150 199 46
A 200 219 | GT(y-GTP 60
50 150 ( Iu/) 60 99
( mg/dl) B 220 239 100
240 110
150 219 ( mg/dl) 110 125
50 A 220 239 126
( mg/dl) 150 140
B 240 259 ( mg/dl) 140 199
260 200
HDL 40 HbAlc 55
( mg/dl) 34 39 ( ) 55 6.0
34 6.1
BMI BMI (kg)—= (m)2
18.5 18.5 25 25




130mmHg 140mmHg
85mmHg 90mmHg
150mg/dl 300mg/dl
HDL 39mg/dl 34mg/dl
LDL 120mg/dl 140mg/dl
100mg/dl 126mg/dl
HbAlc 5.2% 6.1%
AST GOT) 311U/1 611U/1
ALT(GPT) 311U/ 611U/
Y-GT(y-GTP 511U/ 10110/
13.0g/dl ( 12.0g/dl ( )
] 12.0g/dl ( 11.0g/dl ( )
BMI 25
BMI 25 1
BMI 25 2
Hg
HDL 40mg/dl
110mg/dl
HbA1c5.5

18

BMI125

Step4

140mg/dl




BMI 25

BMI HDL
AST GOT ALT GPT GT y-GTP
10 Alc
Alc
Alc
Jaffe
5 16
14 18
=+
14 8
14
0O 3 18
18
6-1 8 BMI25
18
BMI25
18
18 BMI25



SPSS for windows Ver12.0J

Microsoft Excel

14 18
() ()
14 16 11 17,059 36,779 53,838
15 16 11 17,692 37,443 55,135
16 22 17 22,804 54,493 77,297
17 27 21 27,660 63,755 91,415
18 22 26,414 61,753 88,167
() ()
14 15 16 17 18 14 15 16 17 18
40 268 320 577 623 676 | 1,178 | 1,211 | 3,729 | 4,451 | 4,841
40 44 868 876 | 1,207 | 1,419 | 1,316 | 3,527 | 3,470 | 5,414 | 6,136 | 5,705
45 49 1,175 | 1,128 | 1,383 | 1,602 | 1,530 | 4,041 | 3,907 | 5,806 | 6,255 | 6,221
50 54 1,812 | 1,740 | 2,091 | 2,324 | 2,137 | 5,629 | 5,370 | 7,914 | 8,428 | 7,917
55 59 1,663 | 1,806 | 2,586 | 3,292 | 3,323 | 5,192 | 5,503 | 9,185 | 11,219 | 11,075
60 64 2,923 | 3,146 | 4,034 | 4,582 | 4,084 | 5,475| 5,861 | 7,782 | 8,996 | 8,305
65 69 3,266 | 3,316 | 4,342 | 5,454 | 5,249 | 4,981 | 4,971 | 6,149 | 7,555 | 7,227
70 74 2,729 | 2,812 | 3,437 | 4,333 | 4,021 | 3,761 | 3,883 | 4,676 | 5,944 | 5,492
75 2,355 | 2,548 | 3,147 | 4,031 | 4,078 | 2,995| 3,267 | 3,838 | 4,771 | 4,970
17,059 | 17,692 | 22,804 | 27,660 | 26,414 | 36,779 | 37,443 | 54,493 | 63,755 | 61,753




14 18
1

40 80 1.1 430 2.6
40 44 319 4.4 1506 9.0
45 49 528 7.3 1,899 11.3
50 54 828 11.5 2,876 17.1
55 59 797 11.1 2,718 16.2
60 64 1,314 18.3 2,692 16.0
65 69 1,506 20.9 2,342 14.0
70 74 1,130 15.7 1,510 9.0
75 692 9.6 801 4.8

7,194 100 16,774 100

2000
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